. AN £ 0ol & 2 F A
SAEE : 2016
WarpE 2o
2 A MRH

3 A ZF o LESIA (chol &S
SN B oM B L T HRE2 EESY
T < 1t 400,659 383,204 17,455
S8 HEHE 2 315,123 297,668 17,455
SRME 2te] 201,807 196,961 4,846
TS A2t e 201,807 196,961 4,846
201 LBt FH| 196,557 191,711 4,846
63,478 58,118 5,360 |01 AFS22|H]

Oggr=2Hl 60,478

—JlEt==2 60,478

sdesgsrg 366,300 x120& X|= 43,956

g2 408, 100& x20 2 K| = 8,162

- 2EEI R 209,000 «20E X| 2K J| 2+= 8,360

Osgsg 3,000

— EZRRRNAMARE LS 100, 0002 =521 #63I= 3,000

133,079 133,593 AB14|102 2322l

CEEY-ELR 133,079

— Mol =+ S H 2l 94,808,520& * 1= 94,809

— Zolf i & B Ml 3l dI 38,200,000& x1= 38,200

—JIAHHAMUEE 70,000& *1= 70
203 &R =2l 2,000 2,000 0

2,000 2,000 0103 AIMZ=&HLFAH|
ORRMMAHRFX 2,000,000& 1= 2,000
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303 L&z 3,250 3,250 0
3,250 3,250 0101 E&=z=
OZY3 3,250
S POANESMEHASNAEAS
65,000, 000& *5%*50%= 1,625
—HgdsZaz 65,000,000 *5%*50%= 1,625
S AH2el 23 113,316 100,707 12,609
L2010 UM ¥ =5 7Y 24,682 14,303 10,379
405 Rt&HHF SHI 24,682 14,303 10,379
24,682 14,303 10,379 (01 X&YX S S F SHI
SREEE 7,330
— SADI(A=1) 3,500,000& *1CH= 3,500
—HHEI(E1S) 1,260,000& »2CH= 2,520
—dWa(E3s) 655,000 *2CH= 1,310
S'LEE 17,352
— s (nssd ) 3,971,000& »10H= 3,971
—IssMII(=2 A &) 2,871,000& »104= 2,871
—SAD(FAEHAD) 2,915,000 »2CH= 5,830
—COXNEHIH (=22 ) 600, 000& »20H= 1,200
—HWe(d31s) 510,000 x1CH= 510
—SA(LS) 2,970,000& x1CH= 2,970
e =z 88,634 86,404 2,230
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EEY o o s2 =2
ORFID2IHIIE8S/WE D0 ERX RN E >
300,000& x12&= 3,600
ge=a 10,800 10,800
10,800 10,800 03 AMFAHRFAH
oz¢dz2egRFA 6,000,000& *1= 6,000
ORI 4,800,000 1= 4,800
BB A Z 14,400 14,400
14,400 14,400 JIEt2 4=
Z A Z AR R A 14,400
— 2l 100,000& 42 30 = 12,000
— 0dbl 20,0003 x4 »30L = 2,400
e 85,536 85,536
85,536 85,536
85,536 85,536
30,936 30,936
30,936 30,936 AR 22l
OJIZMNRES 15,000 15% = 225
OxR2d=57¢Y 5,511
—SMIILAEE 165,000 =10 »23| = 330
— SAEX(M)FL 21,5002 x5 A= 128 = 1,290
—EANESINLARE 154,000& = 1CH 23| = 308
—ZEHAZS 3,583
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SA B O ME - B L T HRE2
ZetZeld 200,340& 4 M4 +235| = 1,603
SWIoelH 165,000 »3&! x43| = 1,980
HEFAUS 7,000 «20A! x 15H 128 = 25,200
202 04dl 50,400 50,400
50,400 50,400 LH O4 1l
220 20,000 x 14 x15H «12& = 50,400
203 PR =&l 4,200 4,200
4,200 4,200 EA2EHRFA
PN2EHRFY 350,000 x12&8= 4,200
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